F4-3 #XH] Fis BX5) BIA DR (HAIT : %)
2 RR2TAE Tk 224F AR
HiX 4 IGmEART | 15~645% | 65mebA b | 15mEAM | 15~647% | 65melL b | IGEEARI | 15~64i% | 65mbA bk
i 1.3 54.17 33.3 11.9 58.7 29.3 | A 0.6] A 4.0 4.0
SRS 9.3 56. 7 32.9 9.2 60. 4 30. 4 0.1 A 3.7 2.5
SRl 11.8 54.2 33.6 13.5 57. 1 29.3 | A L7 A 2.9 4.3
HE = 1.5 47.1 44.9 8.5 52.3 39.1 | A L.0O| A 5.2 5.8
[T 10.6 53.4 35.2 11.3 57. 4 3.2 | A 0.7 A 4.0 4.0
Ji 14.8 60. 2 23.9 15.9 63. 1 209 | A 11| A 2.9 3.0
= %5 10.5 53.8 35. 6 11.6 58. 8 20.6 | A 1.1| A 5.0 6.0
wOR 10. 4 52.8 36.5 10.5 57.6 3.8 | A 0.1 A 4.8 4.7
K 1.5 53.8 34.7 12.0 58.6 20.3 | A 0.5| A 4.8 5.4
e Fn 13.8 53.5 32.2 14.8 58. 7 26.5 | A 1.0 A 5.2 5.7
AR 17.7 54. 6 21.5 20. 0 54.8 25.1 | A 2.3 A 0.2 2.4
EESS S 12.1 56.0 31.2 12. 7 59. 7 27.6 | A 0.6/ A 3.7 3.6
A 5.6 45.5 48.9 7.5 53.1 39.5 | A 1.9 A T.6 9.4
R 9.9 54.5 35. 4 10.8 61.2 28.0 | A 0.9 A 6.7 7.4
s 8.6 50.5 40.7 9.3 56. 6 3.0 | A 0.7 A 61 6.7
=l 5.9 45.1 48.9 7.4 49.0 43.5 | A 1.5 A 3.9 5.4
X 4.5 38.7 56.7 5.6 45.0 49.4 | A 1.1 A 6.3 7.3
%7 9.8 53. 2 36.9 10.3 59. 4 30.2 | A 0.5 A 6.2 6.7
ook 4.9 28.1 66. 8 5.1 34. 2 60.8 | A 0.2 A 6.1 6.0
= 4.1 30.2 65.5 4.8 36.5 58.6 | A 0.7 A 6.3 6.9
SO E 8.2 49.0 42. 6 9.0 54.8 36.2 | A 0.8 A 5.8 6. 4
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